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ST AR R EEmAN | BmE | Top | BERE | ZEEE | pepe
s Bk LOBEH | (mg/ke) (mg/kg) (ma/ke) B (mg/kg)
FToVFR) BAALL 1 1 0.01 0.01 05 0 0.01
FESEBRL AR 4 1 0.03 0.02 10 0 0.02
ZEOH 16 1 0.03 0.02 5 0 0.02
sz E—<> 11 2 0.09 0.03 1 0 0.02
LwAES 9 4 0.15 0.05 10 0 0.02
125 9 5 0.45 0.17 5 0 0.02
BAR%GL 37 13 0.13 0.03 2 0 0.02
KEX 7 1 0.02 0.01 0.2 0 0.01
ZEOH 8 1 0.25 0.04 15 0 0.01
I2ALA 17 1 0.02 0.01 1 0 0.01
UL ZROES BAR%GL 3 3 0.1 0.07 2 0 0.01
FEFEBRL AR 12 3 0.01 0.01 30 0 0.01
125 5 3 2.6 0.99 70 0 0.01
LwAES 10 7 2.6 0.38 30 0 0.01
E—v> 14 7 0.68 0.08 3 0 0.01
PR I2ALA 11 1 0.12 0.06 5 0 0.05
E—<v 1 4 12 0.21 10 0 0.05
(2T HR I2ALCA 3 1 0.06 0.03 0.03 1 0.01
E—<v 8 1 0.01 0.01 0.7 0 0.01
12598 YR E—<> 11 4 0.18 0.05 3 0 0.02
AVEFH AT (AURFHHILITNIEEBRL 2R 3 1 0.04 0.03 14 0 0.02
*rTay BA%LL 59 19 0.41 0.05 25 0 0.01
E—v> 2 1 0.08 0.05 2 0 0.02
DLV LAFIL LwAES 8 3 7.2 1.04 20 0 0.02
BAR%GL 34 14 0.22 0.05 5 0 0.02
125 20 16 47 1.35 25 0 0.02
PS = 7 1 0.2 0.05 1 0 0.02
ZEOH 2 1 0.01 0.01 10 0 0.01
FEREBRL AR 19 2 0.25 0.03 20 0 0.01
JaFF=Sy E—<> 16 2 0.01 0.01 3 0 0.01
LwAES 4 3 0.56 0.20 10 0 0.01
125 9 5 0.31 0.09 15 0 0.01
BAR%GL 35 6 0.06 0.01 1 0 0.01
E—<> 5 1 0.08 0.03 1 0 0.02
Joyaly— 21 2 0.08 0.03 4 0 0.02
yasvkz=)Fa—) BALL 26 7 0.06 0.02 1 0 0.02
ZEOH 13 7 49 0.46 20 0 0.02
FEHEBRL AR 19 8 0.33 0.07 20 0 0.02
Joyaly— 9 1 0.09 0.03 3 0 0.02
ZEOH 3 2 0.04 0.03 5 0 0.02
yaLIzFEL E—v> 17 2 0.94 0.08 1 0 0.02
BARLGL 28 3 0.08 0.02 1 0 0.02
LwAES 8 4 0.43 0.13 20 0 0.02
£aa4a=)L(TPN) E—<> 29 5 0.42 0.03 7 0 0.01
ST7IJITIR ZFEDN 12 4 0.24 0.06 15 0 0.02
YI/ESTIV BA%LL 10 4 0.14 0.03 2 0 0.01
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FEREBRL AR 3 1 1.4 0.47 25 0 0.01
125 7 6 0.53 0.15 10 0 0.01
E—<> 21 6 0.17 0.04 3 0 0.01
CITISY L AEL 10 7 0.55 0.10 20 0 0.01
ZEOH 17 13 0.8 0.12 10 0 0.01
KEX 37 21 0.12 0.03 2 0 0.01
BAR%GL 35 26 0.1 0.03 1 0 0.01
$oz/aFy—nL E—<> 7 3 0.1 0.03 2 0 0.01
SINTTFER E—<> 12 1 0.1 0.03 1 0 0.02
BARLGL 11 2 0.25 0.07 2 0 0.05
URILARIY ZEDOH 10 5 0.61 0.15 5 0 0.05
125 18 10 12 0.22 6 0 0.05
S5TLATTY KER 3 1 0.01 0.01 0.3 0 0.01
BARLGL 7 4 0.04 0.02 1 0 0.01
RE/HE 125 10 3 0.1 0.04 5 0 0.02
BALTSIY ZEOH 14 1 0.5 0.05 0.1 1 0.02
BAR%GL 12 1 0.06 0.02 1 0 0.02
7 AL ZEOH 1 1 0.02 0.02 5 0 0.02
E—<> 7 2 0.02 0.02 1 0 0.02
FEFEBRL AR 14 3 0.07 0.03 3 0 0.02
FIarJ— BAR%GL 18 1 0.15 0.06 5 0 0.05
TR ZEOH 8 1 0.02 0.02 0.5 0 0.02
FINRL ROy BALL 1 1 0.04 0.04 1 0 0.02
rSEARY BA%LL 14 2 0.02 0.01 0.3 0 0.01
rJZILEJ =)L E—<> 16 1 0.19 0.06 3 0 0.05
BARLGL 36 1 0.04 0.02 2 0 0.02
FLIIVESK FESEBRL AR 3 1 0.03 0.02 10 0 0.02
E—<> 7 2 0.52 0.12 3 0 0.02
—TUESL LwAES 19 8 0.16 0.02 2 0 0.01
ek SN BA%LL 13 6 0.03 0.01 0.5 0 0.01
E5o0RROES FEREBRL AR 4 1 0.02 0.01 2 0 0.01
BARLGL 31 19 0.1 0.02 0.7 0 0.01
EUFRY E—<>v 3 1 0.04 0.03 3 0 0.03
FEHEBRL AR 3 1 0.03 0.02 20 0 0.02
ZEOH 2 1 0.24 0.13 15 0 0.02
EUEYIL E—<> 19 1 0.3 0.03 2 0 0.02
[ 3 3 2.6 1.22 20 0 0.02
LwAES 6 3 2.6 0.86 25 0 0.02
EVSHRRAFIL ZFEDN 2 1 0.04 0.03 1 0 0.02
ITYLIY REx 8 5 0.48 0.15 2 0 0.02
Jzo7ary—L =N 25 10 0.02 0.01 0.7 0 0.01
=AY ) M) BA%GL 4 3 0.06 0.04 5 0 0.02
TYSAF KER 1 2 0.04 0.02 1 0 0.02
INTSHFIZL 125 7 3 0.17 0.05 10 0 0.03
E—v> 6 1 0.04 0.02 1 0 0.02
INT/HREAY ZEOH 14 5 0.31 0.05 10 0 0.02
LwAES 20 7 1.2 0.23 10 0 0.02
I2ALCA 13 1 0.01 0.01 0.3 0 0.01
ZEOH 5 2 14 0.29 20 0 0.01
TWRUTTIR E—<> 12 2 0.3 0.04 3 0 0.01
FEREBRL AR 6 3 2.7 0.96 15 0 0.01
BARLL 23 16 0.05 0.02 0.8 0 0.01




ST A BRAEH EEmAN | BmE | Top | GERE | ZEEE | pepe
Y B LOBEH | (mg/ke) (mg/kg) (ma/ke) oyt (mg/kg)
I2ALA 7 2 0.07 0.04 0.2 0 0.03
JavERy PN 3 3 0.4 0.24 2 0 0.02
E—<> 9 8 0.49 0.26 5 0 0.03
FaFFRR 125 3 1 0.06 0.04 0.1 0 0.03
JOEHER LwAES 8 2 0.03 0.01 0.3 0 0.01
JaEIFKR KEX 21 12 0.1 0.03 0.7 0 0.02
LwAES 9 1 0.12 0.03 3 0 0.02
RIVAR > Joyaly— 5 1 0.21 0.06 2 0 0.02
BAR%GL 3 3 0.12 0.07 2 0 0.02
Ryvyoy KEK 3 1 0.01 0.01 0.3 0 0.01
E—v> 19 1 0.33 0.03 3 0 0.01
RUFAESE 125 4 3 1.6 0.42 20 0 0.01
FEREBRL AR 10 7 45 0.49 30 0 0.01
BARLGL 19 8 0.05 0.02 3 0 0.01
I2ALA 9 1 0.05 0.02 2 0 0.02
RRAYR FESFEBRL AR 5 2 0.2 0.06 40 0 0.02
BAR%GL 31 18 0.18 0.04 3 0 0.02
ESOw =AY FEHEBRL AR 3 2 0.14 0.06 25 0 0.02
HOJa=)L E—v> 12 1 0.07 0.05 1 0 0.05
AASHDI (AESF D IUMEED)|ICALA 8 1 0.08 0.03 0.4 0 0.02
- FEREBRL AR 2 1 0.08 0.07 10 0 0.05
ZEOH 3 2 1.1 0.49 5 0 0.05




